
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

5.692 × ________ = 56.92 3.738 × ________ = 3738

4.567 × ________ = 4567 3.096 × ________ = 3096

7.737 × ________ = 7737 1.261 × ________ = 126.1

7.619 × ________ = 761.9 3.239 × ________ = 3239

6.517 × ________ = 6517 4.57 × ________ = 457

8.32 × ________ = 832 10.749 × ________ = 1074.9

5.873 × ________ = 58.73 1.922 × ________ = 192.2

4.032 × ________ = 40.32 3.253 × ________ = 3253

9.81 × ________ = 98.1 7.016 × ________ = 701.6

1.218 × ________ = 1218 4.117 × ________ = 411.7
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

5.692 × 10 = 56.92 3.738 × 1000 = 3738

4.567 × 1000 = 4567 3.096 × 1000 = 3096

7.737 × 1000 = 7737 1.261 × 100 = 126.1

7.619 × 100 = 761.9 3.239 × 1000 = 3239

6.517 × 1000 = 6517 4.57 × 100 = 457

8.32 × 100 = 832 10.749 × 100 = 1074.9

5.873 × 10 = 58.73 1.922 × 100 = 192.2

4.032 × 10 = 40.32 3.253 × 1000 = 3253

9.81 × 10 = 98.1 7.016 × 100 = 701.6

1.218 × 1000 = 1218 4.117 × 100 = 411.7

www.snowmath.com

https://www.snowmath.com

